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(EEIEEHERESD)
RES & Eith ENFE# = (k) I HY5E FExER S|
A8 Y5 Ext Hiike | SEM) | FERA) | ZEA) | SEE) | $EME) EM)
130100 |/ZL\C A B 14,920
dtiEE 13,435 6,395 7,040 10 1, 620 1,080 1,620 1,296
B 945 645 300 15 1,296 1,134
130340 |;£ICA LA 1w 21,310
dtiEE 12,810 0 12,810 10 4,320 1,836
H 6,600 150 6,450 10 3. 240 4212 2,322
130400 [ (%5 i 2,900
HE 270 0 270 10 3,456 3,024
i E 300 0 300 10 - - - 864
130600 |[LACA iy 981
= 781 25 756 1 1. 728 1,296 1,836 1,188
131100 |3 pid 22,185
% 22,185 12,575 9,610 15 3. 240 1,080 3,564 918
131700 | ¥Ry B 31,360
dtiEE 400 400 0 10 810
I 1,200 1,200 0 15 1,058
BE 22,000 5,305 16,695 10 1,944 756 1,944 756
F54 7,760 2,710 5,050 10 2,052 432 2,052 216
131800 |[F5SNAE 1w 1,383
I B2 828 198 630] 3.6 4,104 3, 888 4,104 2,160
EE 460 460 of 02 194 86
me 2 2 of 008 76
P 45 0 45 0.18 162
131910 | HHE R 3,808
N 36 0 36 05 702 302
£E 73 5 68 05 302 151 302 270
i L 460 0 460 1 1,296 432
EI 1,809 110 1,699 5 3. 240 1, 620 2,700 1,080
B 1,140 0 1,140 10 3,132 2,700
131950 B BE 5,850
B 3,110 458 2,652 3 Z, 160 1,512 2,160 756
i [EF 540 0 540 5 594
133400 |[L AR B 12,760
% 12,760 7,230 5,530 10 3. 240 1,296 4,320 1,080
134100 |4/ iy 12,229
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B EFEMHE: 1943 b
(EEIEEHERESD)
e T Eith ENFE# = (k) g HY5E FExER S|
AHB Y5 tExt Hiike | SEM) | FERA) [ #EEAE) | SEE) | #EE) | Z{EM)
=BE 500 250 250 5 3,024 3,186 2,916
EE 454 102 352 10 2,808 3,672 2,808
Y] 260 0 260 10 5,400 4,644
&Il 2,115 430 1,685 5 2,808 2,322 3,456 1,242
EiE 8,560 1,850 6,710 5 2, 808 1,512 3,132 1,026
134200 |Fg I W 490
K& 420 0 420 10 - - - 3,240 1,188
BE 70 0 70 10 2,592 1,620
134300 | A F by 8,025
N 200 0 200 4 2,484 1,512
EE 777 407 370 5 3,024 1,620 3,024 1,458
=B 120 105 15 5 2,700 1,728 864
mE 2,551 626 1,925 5 3. 780 Z,592 3,564 1,080
g 1,209 224 985] 04 194 151 173 81
134400 |F<k ey 10,517
dtiEE 1,371 40 1,331 4 2,376 1,944 1512 864
FE 25 0 25 05 238
Ik B2 4,560 420 4,140 4 2,700 1,188 1,728 756
£E 1,859 102 1,757 4 1,080 2,506 540
mE 1,640 0 1,640 4 1,296 540
e 512 64 448 4 1,944 1,728 1,512 1,188
RER 420 0 420 4 1,404 1,188
134500 |[E—< > 1w 8,845
EE 2,640 293 2,348 0.15 92 86 86 76
g 684 0 684 0.15 92 76
134700 | E58ACL i 7,367
K& 6,160 1,660 4,500 10 4,320 Z 484 4,536 1,512
EE 207 0 207 9 1,944 1,134
135100 |LVAIFA by 252
dtiEE 80 6 74 /] 4,320 4536 3,888
=¥ 86 0 86 2 3,456 1,620
£E 8 0 8 2 2,484 1,620
mE 78 0 78 2 3,240 972
135500 [ =& 1w 784
I E 662 14 648 0.18 173 194 81
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e T Eith ENFE# = (k) g HY5E FExER S|
AHB HYFE tExt Hiike | SEM) | FERA) [ #EEAE) | SEE) | #EE) | Z{EM)
£E 81 0 81| 045 367 346
136100 | MAL & g 14,790
mE 4,845 320 4525 5 2,700 1,728 2,376 864
=IE 305 0 305 5 2,214 1,728
136210 | A—9 1> by 3,910
F 3,450 550 2,900 10 6. 480 4, 968 6,480 3,478
136300 | B ¥ ik 430
= I 110 40 70 5 Z,.970 1,890 3,240 1,620
BRE 20 0 20 2 1,404 1,080
thE 300 0 300 10 1,836
136600 [f=FH= ik 2,180
EE 2,180 1,750 430 20 Z, 316
138100 [ L =1T ¥ 4,188
EE 409 75 334 0.1 81 108 81
e 2,592 23 2569 0.1 130 184 52
138500 [LOHLEH B 2,877
5 2,877 372 2505 0.2 173 65 73 65
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(EEIEEHERESD)
RES mf Eih ENFE# = (k) I HY5E FEXTER 5|
A8 Y5 Ext ke | SEME) | #EM) | REM) | SEAE) | #EE) | REFE)
240110 [/ N9 XA A HE 815
=I5 390 390 0 5 3. 240 Z 160
242320 (33— )Lk i 3,230
& 3,230 2,040 1,190 10 6. 312 4,752 7,236
243120 |SEKAL R 2,160
35 2,160 200 1,960 10 4, 860 4.104 4,860 3,240
244200 |F4E+1E ik 3,243
3 1,387 200 1,187 5 5,400 3,240 4,860 1,404
W 1,728 280 1,448 4 3. 240 5,292 3,024
[ 36 0 36 2 6,372 5,832
=l 20 20 0 4 2,700
244430 |Eh o 51> R 213
5 213 0 213 0.7 - - - 432 356
244530 BRI £% R 288
g 88 37 50 0.3 410 378
=¥ 160 0 160 05 324 302
120 40 0 4| 04 410 324
245220 | T TT7 AED B 1,135
A 276 208 68 2 1,944
[T 128 0 128 0.4 432 378
KR 731 103 628 0.3 324 270 324 162
245230 |BIESES B 329
=¥ 71 43 29 5 9,720 9,720
12 206 96 110[ 0.25 356 367 324
245240 [EA—RRES R 372
&L 335 129 206 5 12. 960 6. 480 11,880 7,560
&Il 37 10 27 5 10,800 10,800
245820 |FHLVELL e 72
EE 72 72 0 [] 5. 400 Z,916
246000 (V6 ey 17
mE 3 0 3 0.3 - - - 702
247100 [7—I)L R AO Y g 2,388
Edi] 706 196 510 85 12,960 2,592 10,800 2,484
25 1,240 1,240 0 8 4,320 1, 836
=450 442 374 68| 85 5,940 2,268 3,888
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(& IFHERESD)
4 4 Eh ENFE R E (ke) AR Y5 X ER 5]
AH Y5 FExt Hfike) | &EMA) [ HEM) | REM) | &) | 9EAE) | =REME)
248300 |EHh 9 L vh g 25,354
2 14,400 6,066 8,334 18 1, 566 432 2,916 1,836
EH 9,664 6,048 3,616 16 4,104 1,620 3,780 1,620
EE 1,290 1,290 0 15 2,484 1,188
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Ak FERH 16.4 V%
_ (MAS X E RS S T)
o s 158 ¥k ke) fli g A e HIRTS|
A H w05 FES | FEHN B ()| ()| Z2 (M) P Hh B () | ) | ZefiE(H)

101 [0 648 241 407 Kg |Ehg 1,944 54| L 2,160 324
102 [=HE=n» 1,938 1,938 Kg Tl 1,458 216
111 |&IEED 1,818 53 1,765 Kg [HIRE 756 540 [y i BV 1,134 196
113 [RAROHD 8 2 6] Kg [&E 1,404 1,080] i 3,240 3,024
114 [#WFEH 312 312 Kg ETAES 2,376 321
115 [/ 35 18 17 Kg [|[=¥% 540 72| 3,024 648
117 [ixs 1,940 241 1,699] Kg [ 2,808 11| )i 2,700 540
121 [bixx 26 26 Kg [LcE 972 540

134 [7=2 746 403 343 Kg |m&E 1,296 540 | Fo i 1,543 648
140 [oiz 30 30 Kg L) 64,800 14,040
147 [Ex X 39 16 23] Kg |Gk 9,180 4,104 550 15,120 5,400
158 [&HEA XS 394 394 Kg RS 1,728 648
201 Wbl 566 450 116] Kg |50 200 T3 486 432
203 [/hNHL 112 112 Kg i 432 297
206 |1 190 190]  Kg IR 497 352
207 |&AFE 52 52|  Kg B[RS 675 594
208 |7oB 454 454 Kg kI 2,160 365
209 [T HDLH) 230 230 Kg Al 778 713
210 [IFA VD 116 16 100 Kg [ER 2,700 R 4,050 2,025
212 [FHHSD 81 81 Kg g 1,728 1,004
222 [OBZ 360 360 Kg T 252 54
251 |KAESTAH 462 162 Kg i Al 3,294 2,873
252 |[WAEESAH 213 213 Ke [l 2,948 745

254 [EDFEECAH 1,249 323 026 Kg |#hd-fnEcl 1,739 600|F5 /5 1,620 540
303 [hAZEO 48 9 39 Kg [H0 396 )1l 576 432
305 [ERn-ok 29 29| Kg 11 2,484 2,160
306 [WeXb 7 7 Kg [|RIF 655

314 [ixd 2,500 2,500 Kg |5 2,500 700

319 [&b5 657 156 501 Kg |RI& 972 594 — 1,296 551
332 [ WA =T 471 471 Kg JErE 1,890 1,080
351 |AEH 10 10]  Kg [T 11,880 3,780
354 [1ITEIY 26 5 21 Kg = 1,404 T 1,404 621
355 [V 215 100 115] Kg |FEA 800 550[AE 1,080 432
356  |LUA 115 115] Kg JSE 864

357 [JRE 14 14  Keg FiAES] 1,728 1,350
358 [ kH 20 20  Kg A 1,296

401 [Hwp 142 142]  Kg A 1,188 756
402 97X 95 95 Kg A 5,940 4,698
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_ UM ETHERE S T)
:”'iﬁ‘ hhh e HE(ke) Ak BT H0E FHHES |
AH B FE S| PEHI B ()| ()| Z2 (M) FEHN B () | ) | ZefiE(H)
507 [mr—Lus 30 30 Kg £ 702
523 [kl 2 OY 139 139]  Kg /)7 2,808 1,020
524 | EZ 116 116] Kg EiPi 1,937
558 | ARfh 20 20 Kg E[REE 1,080 864
566  [/ED>NC 5 5 Kg [ RES 3,156
576 | ST 10 10 Kg b iE 1,890




ASFN24E07 A 25H (HEH)

P AR FE T Sy (AR 8) A H i

JnI TERSIR: 4.8 V%

_ UM ETHERE S T)
:”'iﬁ‘ i et Eke) A BT w0 FHxES |

A H /b FES | FEM B | ()| ZfiE(H) P Hh B () | ) | ZefiE(H)
701 [BEVDA 1,413 1,247 166] Kg [ 2,322 370[ 1,404 864
713 [LLb AT 49 49]  Kg E[*E3 1,296 1,224
751 |FH D 41 41 Kg ST 1,031 900
755 |HHL 313 313 Kg EIR 1,230 508
756 |BEMET 14 14 Kg IRy 1,080 1,056
761 [BYDOAEE 45 11 3| Kg [ImE 1,697 1,612[cE 1,280 1,100
768 &= 15 15 Kg 1,900
801 [HEACLE1F 196 30 166] Kg [mS7 70 ALre 1,944 810
802 [HEEIF 110 110] Kg e gE 918 594
805 [T 1,833 1,833 Kg E[RES 821 356
807 [kt 16 16 Kg AL 7,992 3,672
810 [WHKT 777 777 Kg E[&23 3,456 1,458




